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2.3 Solving Two-Step Equations

Undo the operations in reverse order...
in other words, work backwards.

« Combine like terms, if possible.
« Undo addition/subtraction.
« Undo multiplication/division.
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11. Define a variable, write an equation, & solve.

Karen has & more thas many
newspaper customers as when she started
selling newspapers. She now has 98 customers.

How many did she have when she started?
Let x= # of customers she had
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12. Define a variable, write an equation, & solve.

A skate park charges $7 per session to skate and $4
per session to rent safety equipment. Jared rents

safety equipment every time he skates. During the
summer, he spends $99 for skating charges and

equipment rentals. How many times did he pay to

skate at the park?
Let X =4 of visits +p skoke ?qq\
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